H & 0l & AHS B Ml A

20243 =0llah LB EXIE 20

2A: EXEED

HH: RO MF MR D
]
.

ol EXNHIAHIA 22l & (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
EXEE 2,154,948 995,050 1,159,898
= 82,438
- 2,072,510
HAAC A& XHHE 28 2,073,498 908,050 1,165,448
= 82,438
- 1,991,060
EXHIAHIA 22| HE 94,961 80,802 14,159
= 21,768
T 73,193
INPIEIN; 58,681 57,582 1,099
= 21,768
- 36,913
201 Ler=23 | 55,881 54,782 1,099
= 20,868
- 35,013
01 AtR2te|HI 55,881 54,782 1,099
OMESAIXIt BE =2 49,443
~MEXIL ES
45,80021%33, 7792 XI / (45,0382 XI/1,3122 K1)
45,068
= 16,867
- 28,201
-0ISAl & AMEXIL 5
, 8003 »15%+320& | 2,19
= 813
- 1,386
012 ME X0 BS
45,8003 x50+ 952 K| 2,176
= 805
- 1,371
OAIRHY 2l ARES S 78
1,500,000&+0.9 1,350
= 500
- 850
OMESAIXIL 22 S+ S HMH
70,0002 %23 x 1204 A 1,680
= 622
- 1,088
ORStIIEASAI?ER 4 =&
100,000 6 & *43] 2,400
= 888
- 1,512
OXIJtEAIR Y S201AMH|
8,000 x4 +362+0.9 1,008
= 373
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EXNEE L

A HHEQ HX XHS#Y P2
ol EXEIAMEIA 22 SR (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
- 635
202 04d| 2,800 2,800 0
= 900
- 1,900
01 =WOdHI 2,800 2,800 0
OXIIFZE A HI 20,0003 x4 H 352 2,800
= 900
- 1,900
NgRE= 2t 2el 31,380 21,320 10,060
201 Ler2 | 31,380 21,320 10,060
01 At=R2teld| 31,380 21,320 10,060
ONL=RE3 HISM4EEY & ESAIE Xt
HeiorAA D 28 2
2,000,000%4 %1521 30,000
ONLBSZ S2AIEXI BdS442
46,0003 *3024 1,380
S SHY 2tel 4,000 1,000 3,000
201 L2 | 4,000 1,000 3,000
01 AFR2teltl 4,000 1,000 3,000
OFSAENEA 2 2 RZE 7Y S
5,000 *1009H 2 500
ORSAEI oY 2IES Y S
5002 *1,0000H 500
OESAHAAILD g nS 3,000
EXNHFANMARFE 900 900 0
203 PRF=&H| 900 900
03 Al FAIHRFEIYH] 900 900
OEXHE HRFA 1,000, 000 *90% 900
EXNFEe &858 22| L M= 1,658,581 595,368 1,063,213
= 60,670
- 1,597,911
EXNSEEEY 7 73,193 75,874 A2,681
201 B2 AY| 27,177 27,630 A453
2 S=29| 27,177 26,992 185
OEXNSESHEEY SXZ2HIZ(S/MW,HMW) 26,225
07 Xstudio 45,8333 x 128 550
~GeoDT 61,6002 122 740
-22t2 400,400 128 4,805
~AH (0B,AP) 733,650« 123 8,804
—MapPr ime 770,000& 123 9,240
—CubeOne 4Core Base Pakage(INQIHE 45 3})
173,800& x12& 2,086
OXNHESHUT HAI B2 25 2E2
158,547 & +6Y 952
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M AR HF XNHY P
o EXFZES 28 22 € M3 (EEEE))
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308 XHXISHHIS O & 16,016 21,744 15,728
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OXIXIIEE SEEA
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01 ML 2ZF S| 30,000 26,500 3,500
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30,000, 0002 174 30,000
NN2NESZeIAALY 2= 7,938 4,212 3,726
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01 Al 22| 7,938 4,212 3,726
OXNSHSERRIANAL 2= 7,938
-0ISXl ZolN 80021 %1,600% 1,280
N 8,000 2405 1,920
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OXIHMEA BERE IR
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NEWEIUNIEES! 60,670 44,225 16,445
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201 LBt | 5,494 4,109 1,385
= 5,49
01 Al222| 5,49 4,109 1,385
OXIEHEAAY SZHI(SP1X7) 2,605
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A EXNEE
M HYRAZH(EXNFELDL)
Chel: J1=2 &l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SEV T
20,0003 x21H 122 +95% 4,788
OAIZIRIZ R XS A
8,0003x64x218* 122 12,09
202 04| 50,400 60,480 10,080
01 =LHOLI 50,400 60,480 10,080
OZLH0iH] 200,000 x21E~12& 50,400
203 HR=H] 4,200 4,200
M EA2ER=A 4,200 4,200
ORAN2ELRFTIHI(2521015H)
350,000 x 12 4,200
405 KHoHF S| 4,000 4,000
01 ML ESFSHI 4,000 4,000
2 84 AP 2 4,000
Hees(EXNFED) 1,682 592 1,090
FSPNE 1,682 592 1,090
gretsXIE 1,682 592 1,090
802 grat=JIE 1,682 592 1,090
03 JIEtEtE S S 1,682 592 1,090
ONgRg=2 ISR 223
50,000, 0002 *3.41%+180/365+23] 1,682




